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85. IF n is even. then t_hcrc are two real ath roots of
(when ¢ > 0): Vo and =V, Appendix A.3 (pp. 808-813)
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3. =+ 1 degree 7 41
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17. = 1507 = 50 4 10¢ | 15. v # 2und v # |
19, v~ + 3¢ = ) 17. v # 0
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27. 8t = 1207 + in® = 25 4 14

27, (v = (e 4 7) cancels out during simplifica
the restriction indicates that the values 2 wd
were not valid in the original expression,

29. No fictors were removed from the expresso

|
can see by inspection that -\md Sare not vi

3L iy = 3yends up in the numcmu'\r ol the sim
expression: the restriction reminds uy that it
in the denominator. so that 3 is ot allowed
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